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QUESTION 1

SMC2.0 added TE terminal search in a manageable way to 10%, unable to continue, possible reasons are () (multiple
choice)

A. SNMP V2C read community nhame or SNMP V3 user encryption method is inconsistent
B. SNMP V2C read community name or SNMP V3 user password is inconsistent

C. Device SNMP is not enabled

D. APl account or password issue

Correct Answer: ABC

QUESTION 2

Which of the following factors will affect the clarity of the image? ()
A. Color space mode

B. Noise reduction degree

C. Contrast

D. saturation

Correct Answer: B

QUESTION 3

Hold a 720P30 conference with low frame rate secondary stream, the recommended conference bandwidth is 768Kbps,
and the recommended network. The bandwidth is 1.5 times the conference bandwidth. () Correct or Wrong

A. Correct
B. Wrong

Correct Answer: A

QUESTION 4

E1 and 4E1 lines do not support H.460 traversal networking. () Correct or Wrong
A. Correct

B. Wrong

Correct Answer: A
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QUESTION 5

The public and private network traversal problems solved by the H.460 protocol mainly include () (multiple choice)
A. Private network terminal calls public network terminal

B. Public network terminal calls private network terminal

C. The private network terminal receives the media stream sent by the public network terminal

D. The public network terminal receives the media stream from the private network terminal

Correct Answer: BC
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